Journal of Mathematical Research & Exposition Mar., 2010, Vol. 30, No. 2, pp. 356–364 DOI:10.3770/j.issn:1000-341X.2010.02.020 Http://jmre.dlut.edu.cn

Uniqueness of Meromorphic Functions Sharing One or Two Small Functions IM

Han ZHANG^{*}, Qing De ZHANG

Department of Computational Science, Chengdu University of Information Technology, Sichuan 610225, P. R. China

Abstract In this paper, the uniqueness problems of two meromorphic functions sharing one or two small functions IM are studied. By imposing certain conditions on the counting functions of four or three other small functions and constructing auxiliary function, some general uniqueness results are obtained.

Keywords meromorphic function; uniqueness; small function; sharing IM.

Document code A MR(2000) Subject Classification 30D35 Chinese Library Classification 0174.52

1. Introduction and main results

We assume that the reader is familiar with the basic results and standard notations of Nevanlinna's value distribution theory such as $T(r, f), m(r, f), s(r, f), \dots$ in [1–3]. Let E denote a set of finite linear measure, and I denote a set of infinite linear measure, not necessarily the same at each occurrence. We denote by s(r, f) any function satisfying $s(r, f) = o\{T(r, f)\}$, as $r \to \infty, r \notin E$.

A meromorphic function $a(z) (\not\equiv \infty)$ is called a small function with respect to f(z), provided that T(r, a) = s(r, f), and let s(f) denote the set of a(z), where $a(z) \equiv \infty$ or a(z) is a small function of f(z). Moreover, $\overline{N}_0(r, a, f, g)$ denotes the reduced counting function of those common zeros of f(z) - a(z) and g(z) - a(z). $\overline{N}_{12}(r, a, f, g)$ denotes the reduced counting function of those non-common zeros of f(z) - a(z) and g(z) - a(z).

Let f(z) and g(z) be two nonconstant meromorphic functions, and a(z) be a small function with respect to f(z) and g(z). We say that f(z) and g(z) share a(z) CM(IM) if f(z) - a(z) and g(z) - a(z) have the same zeros with the same multiplicity (ignoring multiplicity).

In 1929, Nevanlinna [3, 4] proved the famous five values theorem. A natural question is whether the five values theorem can be extended to small functions? Some partial results were obtained in this direction [5-8].

In 1999, Li and Qiao solved this problem completely and proved the following result:

Theorem A ([9]) Let five distinct meromorphic functions $a_j(z)$ $(j = \overline{1, 5})$ (one of them may

* Corresponding author

Received December 7, 2007; Accepted May 21, 2008

E-mail address: han_zh75@163.com (H. ZHANG)

equal ∞ identically) be small functions of nonconstant meromorphic functions f(z) and g(z). If f(z) and g(z) share $a_j(z)$ $(j = \overline{1,5})$ IM, then $f(z) \equiv g(z)$.

In 2001, Yi and Li improved the above results and obtained the following two theorems.

Theorem B ([10]) Let f(z) and g(z) be two nonconstant meromorphic functions, and $a_j(z)$ $(j = \overline{1,5})$ be five distinct functions in $s(f) \cap s(g)$. If f(z) and g(z) share $a_j(z)$ $(j = \overline{1,4})$ IM and satisfy $\overline{N}_0(r, a_5, f, g) \neq s(r, f) + s(r, g)$, then $f(z) \equiv g(z)$.

Theorem C ([10]) Let f(z) and g(z) be two nonconstant meromorphic functions, and let $a_j(z)$ ($j = \overline{1,5}$) be five distinct functions in $s(f) \bigcap s(g)$. If f(z) and g(z) share $a_j(z)$ ($j = \overline{1,4}$) IM and satisfy $\overline{N}_{12}(r, a_5, f, g) \leq \mu T(r, f) + \nu T(r, g) + s(r, f) + s(r, g)$ for I, where $0 \leq \mu < \frac{2}{9}$ and $0 \leq \nu < \frac{2}{9}$, then $f(z) \equiv g(z)$.

In 2007, Deng and Yao [11] obtained two results below.

Theorem D Let f(z) and g(z) be two nonconstant meromorphic functions, and let $a_j(z)$ $(j = \overline{1,5})$ be five distinct functions in $s(f) \cap s(g)$. If f(z) and g(z) share $a_j(z)$ $(j = \overline{1,3})$ IM and satisfy

$$\sum_{j=4}^{5} \overline{N}_{0}(r, a_{j}, f, g) \geq \lambda \sum_{j=4}^{5} [\overline{N}(r, a_{j}, f) + \overline{N}(r, a_{j}, g)] + s(r, f) + s(r, g)$$

for I, where $\lambda > \frac{1}{3}$, then $f(z) \equiv g(z)$.

Theorem E Let f(z) and g(z) be two nonconstant meromorphic functions, and let $a_j(z)$ $(j = \overline{1,5})$ be five distinct functions in $s(f) \cap s(g)$. If f(z) and g(z) share $a_j(z)$ $(j = \overline{1,3})$ IM and satisfy

$$\sum_{j=4}^{5} \overline{N}_{12}(r, a_j, f, g) \le \mu T(r, f) + \nu T(r, g) + s(r, f) + s(r, g)$$

for I, where $0 \le \mu < \frac{1}{7}$ and $0 \le \nu < \frac{1}{7}$, then $f(z) \equiv g(z)$.

In this paper, by constructing auxiliary functions, we prove some results of two meromorphic functions sharing one or two small functions as follows:

Theorem 1 Let f(z) and g(z) be two nonconstant meromorphic functions, and let $a_j(z)$ $(j = \overline{1,5})$ be five distinct functions in $s(f) \cap s(g)$. If f(z) and g(z) share $a_j(z)$ (j = 1,2) IM and satisfy

$$\sum_{j=3}^{5} \overline{N}_0(r, a_j, f, g) \ge \lambda \sum_{j=4}^{5} [\overline{N}(r, a_j, f) + \overline{N}(r, a_j, g)] + s(r, f) + s(r, g)$$

for I, where $\lambda > \frac{2}{5}$, then $f(z) \equiv g(z)$.

Theorem 2 Let f(z) and g(z) be two nonconstant meromorphic functions, and let $a_j(z)$ $(j = \overline{1,5})$ be five distinct functions in $s(f) \cap s(g)$. If f(z) and g(z) share $a_1(z)$ IM and satisfy

$$\sum_{j=2}^{5} \overline{N}_0(r, a_j, f, g) \ge \lambda \sum_{j=2}^{5} [\overline{N}(r, a_j, f) + \overline{N}(r, a_j, g)] + s(r, f) + s(r, g)$$
(1.1)

for I, where $\lambda > \frac{3}{7}$, then $f(z) \equiv g(z)$.

Theorem 3 Let f(z) and g(z) be two nonconstant meromorphic functions, and let $a_j(z)$ $(j = \overline{1,5})$ be five distinct functions in $s(f) \cap s(g)$. If f(z) and g(z) share $a_1(z)$ IM and satisfy

$$\sum_{j=2}^{5} \overline{N}_{12}(r, a_j, f, g) \le \mu T(r, f) + \nu T(r, g) + s(r, f) + s(r, g)$$
(1.2)

for I, where $0 \le \mu < \frac{1}{3}$ and $0 \le \nu < \frac{1}{3}$, then $f(z) \equiv g(z)$.

Remark Suppose that f(z) and g(z) share $a_j(z)$ (j = 1, 2) IM, and satisfy

$$\sum_{j=3}^{5} \overline{N}_{12}(r, a_j, f, g) \le \mu T(r, f) + \nu T(r, g) + s(r, f) + s(r, g).$$

Thus $\overline{N}_0(r, a_2, f, g) = \overline{N}(r, a_2, f)$, from this we know $\overline{N}_{12}(r, a_2, f, g) = s(r, f) + s(r, g)$, hence (1.2) still holds. Namely, if f(z) and g(z) share $a_j(z)$ (j = 1, 2) IM, the conclusion of Theorem 3 is still valid.

Similarly, Theorems C and E are the corollary of Theorem 3.

2. Some lemmas

In order to prove our results, we need the following lemmas:

Lemma 1 ([2]) Let f(z) be a nonconstant meromorphic function, and $a_j(z)$ $(j = \overline{1,3})$ be three distinct functions in s(f). Then

$$T(r,f) \le \sum_{j=1}^{3} \overline{N}(r,a_j,f) + s(r,f).$$

Lemma 2 ([12]) Let f(z) be a nonconstant meromorphic function, and $a_j(z)$ $(j = \overline{1, 5})$ be three distinct functions in s(f). Then

$$(3-\varepsilon)T(r,f) \le \sum_{j=1}^{5} \overline{N}(r,a_j,f) + s(r,f).$$

Lemma 3 Let f(z) and g(z) be two nonconstant meromorphic functions, and let $0, 1, \infty, a(z)$ and b(z) be five distinct functions in $s(f) \cap s(g)$. If one of the following conditions holds, then $f(z) \equiv g(z)$.

$$\begin{array}{l} (i) \quad \frac{f'(a'g-ag')}{(f-1)(g-a)} \equiv \frac{g'(a'f-af')}{(g-1)(f-a)} \text{ and } N_0(r,b,f,g) \neq s(r,f) + s(r,g); \\ (ii) \quad \frac{(b'f-bf')(a'g-ag')}{(f-1)(g-a)} \equiv \frac{(b'g-bg')(a'f-af')}{(g-1)(f-a)} \text{ and } N_0(r,1,f,g) \neq s(r,f) + s(r,g); \\ (iii) \quad \frac{[b'(f-1)-(b-1)f'][a'(g-1)-(a-1)g']}{(f-b)(g-a)} \equiv \frac{[b'(g-1)-(b-1)g'][a'(f-1)-(a-1)f']}{(g-b)(f-a)} \text{ and } N_0(r,0,f,g) \neq s(r,f) + s(r,g). \end{array}$$

Suppose that $[b'(g-1) - (b-1)g'][a'(f-1) - (a-1)f'] \equiv 0$. Thus $f = c_1(a-1) + 1$ or $g = c_2(b-1) + 1$, where c_1 and c_2 are two nonzero constants. This contradicts that $a \not\equiv \infty$ and $b \not\equiv \infty$) are two distinct functions in $s(f) \cap s(g)$. Hence $[b'(g-1) - (b-1)g'][a'(f-1) - (a-1)f'] \not\equiv 0$.

0. It is clear that $(f - b)(g - a) \neq 0$. Thus we deduce

$$\frac{[b'(f-1)-(b-1)f'][a'(g-1)-(a-1)g']}{[b'(g-1)-(b-1)g'][a'(f-1)-(a-1)f']} - 1 \equiv \frac{(f-b)(g-a)}{(g-b)(f-a)} - 1.$$

By a simple computation, we get

$$\frac{[(f-1)g'-f'(g-1)][a'(b-1)-(a-1)b']}{[b'(g-1)-(b-1)g'][a'(f-1)-(a-1)f']} \equiv \frac{(f-g)(b-a)}{(g-b)(f-a)}.$$

If $f \not\equiv g$, and noting $[b'(g-1) - (b-1)g'][a'(f-1) - (a-1)f'] \not\equiv 0$, we have $[-(g-1)\frac{f'-g'}{f} + g'][(b-1)a' - (a-1)b']$

$$\begin{bmatrix} -(g-1)\frac{f'-g'}{f-g} + g' \end{bmatrix} [(b-1)a' - (a-1)b'] \\ \equiv \frac{(b-a)[b'(g-1) - (b-1)g'][a'(f-1) - (a-1)f']}{(g-b)(f-a)}.$$
(2.1)

From $\overline{N}_0(r, 0, f, g) \neq s(r, f) + s(r, g)$, we know that there exists at least a point z_0 which is a common zero of f(z) and g(z), and is not the zero and pole of a(z), b(z), a'(z), b'(z), a(z) - 1, b(z) - 1 and (b(z) - 1)a'(z) - (a(z) - 1)b'(z). By computing, we know that z_0 is a pole of order 1 of the left-hand side of (2.1), but not the pole of the right-hand side of (2.1). This is a contradiction. Hence $f \equiv g$. This completes the proof of Lemma 3. \Box

Lemma 4 Let $f(z) \ (\neq \infty)$ be a nonconstant meromorphic function, and let $a(z) \ (\neq \infty)$ and $b(z) \ (\neq \infty)$ be two distinct small meromorphic functions with respect to f(z). Let L(f, a, b) be defined by

$$L(f, a, b) = \begin{vmatrix} f & f' & 1 \\ a & a' & 1 \\ b & b' & 1 \end{vmatrix}.$$

Then $m(r, \frac{L(f,a,b)f^k}{(f-a)(g-b)}) = s(r, f)$, where k = 1, 2. By using the logarithmic derivative lemma, we can prove Lemma 4 easily.

3. Proofs of Theorems 1 and 2

Proof Since the proofs of Theorems 1 and 2 are very similar, we prove only Theorem 2 here. In the sequel, we only consider $\frac{3}{7} < \lambda < \frac{1}{2}$ in Theorem 2 since the conclusion of Theorem 2 is naturally valid for $\lambda \geq \frac{1}{2}$. We may assue that

$$\sum_{j=2}^{5} \overline{N}_{0}(r, a_{j}, f, g) \neq s(r, f) + s(r, g).$$
(3.1)

Otherwise, from Lemma 2 and (1.1), we deduce T(r, f) = s(r, f). This is a contradiction. Without loss of generality, we may assume that

$$a_1(z) = \infty, \ a_2(z) = 0, \ a_3(z) = 1, \ a_4(z) = a(z), \ a_5(z) = b(z).$$

Otherwise, a quasi-fractional linear transformation will do. Put

$$H_1 = \frac{L(f,0,1)(f-g)L(g,0,a)}{f(f-1)g(g-a)} - \frac{L(g,0,1)(f-g)L(f,0,a)}{f(f-a)g(g-1)},$$
(3.2)

$$H_2 = \frac{L(f,0,1)(f-g)L(g,0,b)}{f(f-1)g(g-b)} - \frac{L(g,0,1)(f-g)L(f,0,b)}{f(f-b)g(g-1)},$$
(3.3)

H. ZHANG and Q. D. ZHANG

$$H_3 = \frac{L(f,0,b)(f-g)L(g,0,a)}{f(f-b)r(g$$

$$H_4 = \frac{L(f,1,b)(f-g)L(g,1,a)}{(f-1)(f-b)(g-1)(g-a)} - \frac{L(g,1,b)(f-g)L(f,1,a)}{(f-1)(f-a)(g-1)(g-b)}.$$
(3.5)

From Lemma 4, we know $m(r, H_1) = s(r, f) + s(r, g)$. Now we consider the poles of H_1 in the following cases:

Case 1 Since f(z) and g(z) share ∞ IM, we suppose that z_0 is a pole of f(z) with multiplicity p and the pole of g(z) with multiplicity q. We may assume that $1 \le p \le q$. From (3.2), we deduce

$$H_1 = \frac{f-g}{fg} \cdot \frac{a'fg'(g-a)(f-1) - a'f'g(f-a)(g-1) + af'g'(f-g)(a-1)}{(f-1)(f-a)(g-1)(g-a)}.$$
(3.6)

From (3.6) and by computing, we know that z_0 is the pole of the numerator of (3.6) with multiplicity 2p+3q+1, and the pole of the denominator of (3.6) with multiplicity 3p+3q. Hence z_0 is not the pole of H_1 .

Case 2 The case of the zeros of f - 1 and g - 1 is similar to the zeros of f and g, and in the sequel, we only consider the zeros of f and g.

Firstly, suppose that z_0 is a zero of f(z) with multiplicity p and a zero of g(z) with multiplicity q, which is neither the zero nor the pole of a(z) and a(z) - 1. We may assume that $1 \le p \le q$. From (3.6), we see that z_0 is the zero of the numerator of (3.6) with multiplicity 2p + q - 1, and the zero of the denominator of (3.6) with multiplicity p + q. Hence z_0 is not the pole of H_1 . Namely, the common zeros of f(z) and g(z) are not the poles of H_1 .

Secondly, suppose that z_0 is a zero of f(z) with multiplicity p, which is not the zero of g(z). From (3.6), we know that z_0 is the zero of the numerator and denominator of (3.6) with multiplicity p-1 and p, respectively. Hence z_0 is the pole of H_1 with order 1.

Case 3 The zeros of f - a and g - a, now (3.2) can be rewritten as

$$H_1 = \frac{f'(f-g)[a(g'-a')-a'(g-a)]}{f(f-1)g(g-a)} - \frac{g'(f-g)[a(f'-a')-a'(f-a)]}{f(f-a)g(g-1)}.$$
 (3.7)

Combining the above three cases, we have

$$N(r, H_1) \le \overline{N}_{12}(r, 0, f, g) + \overline{N}_{12}(r, 1, f, g) + \overline{N}_{12}(r, a, f, g) + s(r, f) + s(r, g).$$

From this we get

$$T(r, H_1) \le \overline{N}_{12}(r, 0, f, g) + \overline{N}_{12}(r, 1, f, g) + \overline{N}_{12}(r, a, f, g) + s(r, f) + s(r, g).$$
(3.8)

Similarly, we have

$$T(r, H_2) \le \overline{N}_{12}(r, 0, f, g) + \overline{N}_{12}(r, 1, f, g) + \overline{N}_{12}(r, b, f, g) + s(r, f) + s(r, g),$$
(3.9)

$$T(r, H_3) \le \overline{N}_{12}(r, 0, f, g) + \overline{N}_{12}(r, a, f, g) + \overline{N}_{12}(r, b, f, g) + s(r, f) + s(r, g),$$
(3.10)

$$T(r, H_4) \le \overline{N}_{12}(r, 1, f, g) + \overline{N}_{12}(r, a, f, g) + \overline{N}_{12}(r, b, f, g) + s(r, f) + s(r, g).$$
(3.11)

We first suppose that $H_j \neq 0$ $(j = \overline{1,4})$. From (3.2), we know that the common zeros of f(z) - b(z) and g(z) - b(z) are the zeros of H_1 . From this and combining (3.8), we get

$$\overline{N}_0(r, b, f, g) \le \overline{N}(r, 0, H_1) + s(r, f) + s(r, g)$$

360

Uniqueness of meromorphic functions sharing one or two small functions IM

$$\leq \overline{N}_{12}(r,0,f,g) + \overline{N}_{12}(r,1,f,g) + \overline{N}_{12}(r,a,f,g) + s(r,f) + s(r,g).$$
(3.12)

Similarly, we have

$$\overline{N}_{0}(r, a, f, g) \leq \overline{N}(r, 0, H_{2}) + s(r, f) + s(r, g)
\leq \overline{N}_{12}(r, 0, f, g) + \overline{N}_{12}(r, 1, f, g) + \overline{N}_{12}(r, b, f, g) + s(r, f) + s(r, g), \quad (3.13)
\overline{N}_{0}(r, 1, f, g) \leq \overline{N}(r, 0, H_{3}) + s(r, f) + s(r, g)
< \overline{N}_{12}(r, 0, f, g) + \overline{N}_{12}(r, a, f, g) + \overline{N}_{12}(r, b, f, g) + s(r, f) + s(r, g), \quad (3.14)$$

$$\overline{N}_{0}(r,0,f,g) \leq \overline{N}(r,0,H_{4}) + s(r,f) + s(r,g)$$

$$\leq \overline{N}_{12}(r,1,f,g) + \overline{N}_{12}(r,a,f,g) + \overline{N}_{12}(r,b,f,g) + s(r,f) + s(r,g). \quad (3.15)$$

Combining (3.12)–(3.15), we obtain

$$\begin{split} \overline{N}_0(r,0,f,g) + \overline{N}_0(r,1,f,g) + \overline{N}_0(r,a,f,g) + \overline{N}_0(r,b,f,g) \\ &\leq 3[\overline{N}_{12}(r,0,f,g) + \overline{N}_{12}(r,1,f,g) + \overline{N}_{12}(r,a,f,g) + \overline{N}_{12}(r,b,f,g)] + s(r,f) + s(r,g). \end{split}$$

From this and noting that $\overline{N}(r, a, f) + \overline{N}(r, a, g) = \overline{N}_{12}(r, a, f, g) + 2\overline{N}_0(r, a, f, g)$, we deduce

$$\overline{N}_{0}(r,0,f,g) + \overline{N}_{0}(r,1,f,g) + \overline{N}_{0}(r,a,f,g) + \overline{N}_{0}(r,b,f,g) \\
\leq \frac{3}{7} [\overline{N}(r,0,f) + \overline{N}(r,0,g) + \overline{N}(r,1,f) + \overline{N}(r,1,g) + \overline{N}(r,a,f) + \overline{N}(r,a,g) + \overline{N}(r,b,f) + \overline{N}(r,b,g)] + s(r,f) + s(r,g).$$
(3.16)

Combining (1.1) and (3.16) leads to a contradiction.

Hence, we may assume that $H_1 \equiv 0$. Thus from (3.2), we obtain

$$f(z) \equiv g(z) \text{ or } \frac{f'(a'g - ag')}{(f-1)(g-a)} \equiv \frac{g'(a'f - af')}{(g-1)(f-a)}.$$
(*)

If (*) holds, we consider two cases below.

1) $\overline{N}_0(r, b, f, g) \neq s(r, f) + s(r, g)$. From (i) of Lemma 3, we get $f(z) \equiv g(z)$.

2) $\overline{N}_0(r,b,f,g) = s(r,f) + s(r,g).$

Suppose that $H_j \neq 0 (j = \overline{2, 4})$. Thus (3.13)–(3.15) hold, and in the sequel, we have

$$\overline{N}_{0}(r,0,f,g) + \overline{N}_{0}(r,1,f,g) + \overline{N}_{0}(r,a,f,g)
\leq 2[\overline{N}_{12}(r,0,f,g) + \overline{N}_{12}(r,1,f,g) + \overline{N}_{12}(r,a,f,g)] +
3\overline{N}_{12}(r,b,f,g) + s(r,f) + s(r,g).$$
(3.17)

On the other hand, from (1.1) and the fact that $\overline{N}(r, a_j, f) + \overline{N}(r, a_j, g) = \overline{N}_{12}(r, a_j, f, g) + 2\overline{N}_0(r, a_j, f, g)$ $(j = \overline{2, 5})$, we deduce

$$\begin{split} \overline{N}_0(r,0,f,g) + \overline{N}_0(r,1,f,g) + \overline{N}_0(r,a,f,g) + \frac{1}{1-2\lambda}\overline{N}_0(r,b,f,g) \\ \geq \frac{\lambda}{1-2\lambda} [\overline{N}_{12}(r,0,f,g) + \overline{N}_{12}(r,1,f,g) + \overline{N}_{12}(r,a,f,g) + \overline{N}_{12}(r,b,f) + \overline{N}(r,b,g)] + s(r,f) + s(r,g). \end{split}$$

From which it follows

$$\overline{N}_0(r,0,f,g) + \overline{N}_0(r,1,f,g) + \overline{N}_0(r,a,f,g)$$

$$\geq \frac{\lambda}{1-2\lambda} [\overline{N}_{12}(r,0,f,g) + \overline{N}_{12}(r,1,f,g) + \overline{N}_{12}(r,a,f,g) + \overline{N}_{12}(r,b,f,g)] - \overline{N}_0(r,b,f,g) + s(r,f) + s(r,g).$$
(3.18)

From the assumption of $\frac{3}{7} < \lambda < \frac{1}{2}$, we have $\frac{\lambda}{1-2\lambda} > 3$.

In the sequel, combining (3.17) and (3.18), and noting that $\overline{N}_0(r, b, f, g) = s(r, f) + s(r, g)$, we get a contradiction. Therefore, we may assume that $H_2 \equiv 0$. Thus from (3.3), we obtain

$$f(z) \equiv g(z) \text{ or } \frac{f'(b'g - bg')}{(f-1)(g-b)} \equiv \frac{g'(b'f - bf')}{(g-1)(f-b)}.$$
(**)

If $(\ast\ast)$ holds, we consider the following two cases again.

- 2.1) $\overline{N}_0(r, a, f, g) \neq s(r, f) + s(r, g)$. From (i) of Lemma 3, we get $f(z) \equiv g(z)$.
- 2.2) $\overline{N}_0(r, a, f, g) = s(r, f) + s(r, g).$

Suppose that $H_j \neq 0$ (j = 3, 4). Thus (3.14) and (3.15) hold, and in the sequel, we have

$$\overline{N}_{0}(r,0,f,g) + \overline{N}_{0}(r,1,f,g) \\ \leq \overline{N}_{12}(r,0,f,g) + \overline{N}_{12}(r,1,f,g) + 2[\overline{N}_{12}(r,a,f,g) + \overline{N}_{12}(r,b,f,g)] + s(r,f) + s(r,g)$$

On the other hand, similarly to the proof of Case 2, we deduce

$$\overline{N}_{0}(r,0,f,g) + \overline{N}_{0}(r,1,f,g) \\
\geq \frac{\lambda}{1-2\lambda} [\overline{N}_{12}(r,0,f,g) + \overline{N}_{12}(r,1,f,g) + \overline{N}_{12}(r,a,f,g) + \overline{N}_{12}(r,b,f,g)] - \overline{N}_{0}(r,a,f,g) - \overline{N}_{0}(r,b,f,g) + s(r,f) + s(r,g).$$
(3.20)

From (3.19) and (3.20), and noting that $\frac{\lambda}{1-2\lambda} > 3$ and $\overline{N}_0(r, a, f, g) = \overline{N}_0(r, b, f, g) = s(r, f) + s(r, g)$, we get a contradiction.

Hence, we may assume that $H_3 \equiv 0$. Thus from (3.4), we obtain

$$f(z) \equiv g(z) \text{ or } \frac{(b'f - bf')(a'g - ag')}{(f - b)(g - a)} \equiv \frac{(b'g - bg')(a'f - af')'}{(f - a)(g - b)}.$$
 (***)

If (***) holds, we still distinguish the following two cases.

- 2.2.1) $\overline{N}_0(r, 1, f, g) \neq s(r, f) + s(r, g)$. From (ii) of Lemma 3, we get $f(z) \equiv g(z)$.
- 2.2.2) $\overline{N}_0(r, 1, f, g) = s(r, f) + s(r, g).$

Suppose that $H_4 \neq 0$. Thus (3.15) holds.

On the other hand, similarly to the proof of Case 2, we deduce

$$\overline{N}_{0}(r,0,f,g) \geq \frac{\lambda}{1-2\lambda} [\overline{N}_{12}(r,0,f,g) + \overline{N}_{12}(r,1,f,g) + \overline{N}_{12}(r,a,f,g) + \overline{N}_{12}(r,b,f,g)] - \overline{N}_{0}(r,1,f,g) - \overline{N}_{0}(r,a,f,g) - \overline{N}_{0}(r,b,f,g) + s(r,f) + s(r,g).$$
(3.21)

From (3.15) and (3.21), and noting that $\frac{\lambda}{1-2\lambda} > 3$ and

$$\overline{N}_0(r,1,f,g) = \overline{N}_0(r,a,f,g) = \overline{N}_0(r,b,f,g) = s(r,f) + s(r,g),$$

we still get a contradiction.

Therefore, we have $H_4 \equiv 0$. Thus from (3.5), we deduce $f(z) \equiv g(z)$ or

$$\frac{[b'(f-1) - (b-1)f'][a'(g-1) - (a-1)g']}{(f-b)(g-a)}$$

Uniqueness of meromorphic functions sharing one or two small functions IM

$$\equiv \frac{[b'(g-1) - (b-1)g'][a'(f-1) - (a-1)f']}{(g-b)(f-a)}.$$
(****)

If (****) holds, from (3.1) and the fact that $\overline{N}_0(r, 1, f, g) = \overline{N}_0(r, a, f, g) = \overline{N}_0(r, b, f, g)$ = s(r, f) + s(r, g), we get $\overline{N}_0(r, 0, f, g) = s(r, f) + s(r, g)$. From this and (iii) of Lemma 3, we obtain $f(z) \equiv g(z)$. This completes the proof of Theorem 2. \Box

4. Proof of Theorem 3

Proof Suppose that $f(z) \not\equiv g(z)$. From Theorem 2, we get

$$\sum_{j=2}^{5} \overline{N}_{0}(r, a_{j}, f, g) \leq \frac{3}{7} \sum_{j=2}^{5} [\overline{N}(r, a_{j}, f) + \overline{N}(r, a_{j}, g)] + s(r, f) + s(r, g).$$
(4.1)

Next we prove that

$$\overline{N}(r, a_1, f) \le \sum_{j=2}^{5} \overline{N}_{12}(r, a_j, f) + s(r, f) + s(r, g).$$
(4.2)

Without loss of generality, we may assume that

$$a_1(z) = a(z), \ a_2(z) = 0, \ a_3(z) = \infty, \ a_4(z) = 1, \ a_5(z) = b(z),$$

provided that $\overline{N}(r, a, f) \neq s(r, f) + s(r, g)$. Otherwise, (4.2) is naturally valid.

Since f(z) and g(z) share a(z) IM, we get $\overline{N}_0(r, a, f, g) \neq s(r, f) + s(r, g)$. Set

$$H = \frac{f'(f-g)(b'g-bg')}{f(f-1)g(g-b)} - \frac{g'(f-g)(b'f-bf')}{f(f-b)g(g-1)}.$$
(4.3)

Suppose $H \equiv 0$. From (i) of Lemma 3 and noting that $\overline{N}_0(r, a, f, g) \neq s(r, f) + s(r, g)$, we get $f(z) \equiv g(z)$. This is a contradiction. Hence $H \neq 0$. From Lemma 4, we know

$$m(r,H) = s(r,f) + s(r,g).$$
 (4.4)

Similarly to the proof of Theorem 2, we have

$$N(r,H) \le \overline{N}_{12}(r,0,f,g) + \overline{N}_{12}(r,1,f,g) + \overline{N}_{12}(r,\infty,f,g) + \overline{N}_{12}(r,b,f,g) + s(r,f) + s(r,g).$$
(4.5)

Obviously, the common zeros of f(z) - a(z) and g(z) - a(z) are the zeros of H.

Combining (4.4) and (4.5), we get

$$\begin{split} N(r,a,f) &= N_0(r,a,f,g) \leq \overline{N}(r,0,H) + s(r,f) + s(r,g) \\ &\leq \overline{N}_{12}(r,0,f,g) + \overline{N}_{12}(r,1,f,g) + \overline{N}_{12}(r,\infty,f,g) + \\ &\quad \overline{N}_{12}(r,b,f,g) + s(r,f) + s(r,g). \end{split}$$

This implies that (4.2) holds. From Lemma 2, we obtain

$$(3-\varepsilon)T(r,f) \le \sum_{j=1}^{5} \overline{N}(r,a_j,f) + s(r,f),$$
(4.6)

$$(3-\varepsilon)T(r,g) \le \sum_{j=1}^{5} \overline{N}(r,a_j,g) + s(r,g).$$

$$(4.7)$$

Combining (4.2), (4.6) and (4.7), we deduce

$$(3-\varepsilon)\{T(r,f)+T(r,g)\} \le 2\sum_{j=2}^{5} \overline{N}_{12}(r,a_j,f,g) + \sum_{j=2}^{5} [\overline{N}(r,a_j,f)+\overline{N}(r,a_j,g)] + s(r,f) + s(r,g).$$
(4.8)

It follows from (4.1)

$$\sum_{j=2}^{5} [\overline{N}(r, a_j, f) + \overline{N}(r, a_j, g)] \le 7 \sum_{j=2}^{5} \overline{N}_{12}(r, a_j, f, g) + s(r, f) + s(r, g).$$
(4.9)

From (4.8) and (4.9), we obtain

$$T(r,f) + T(r,g) \le \frac{9}{3-\varepsilon} \sum_{j=2}^{5} \overline{N}_{12}(r,a_j,f,g) + s(r,f) + s(r,g)$$

From this and (1.2), we deduce

$$T(r,f) + T(r,g) \le \frac{9}{3-\varepsilon} \mu T(r,f) + \frac{9}{3-\varepsilon} \nu T(r,g) + s(r,f) + s(r,g).$$
(4.10)

Thus, for positive number ε , such that $\frac{9}{3-\varepsilon}\mu < 1$ and $\frac{9}{3-\varepsilon}\nu < 1$, combining (4.10), we obtain a contradiction. This completes the proof of Theorem 3. \Box

References

- [1] HAYMAN W K. Meromorphic Functions [M]. Clarendon Press, Oxford, 1964.
- [2] YANG Lo. Value Distribution Theory [M]. Beijing: Science Press, 1993.
- [3] YI Hongxun, YANG Chongjun, Uniqueness Theory of Meromorphic Functions [M]. Beijing: Science Press, 1995.
- [4] Nevanlinna R., Le thoreme de Picard-Borel et la thorie des functions mromorphes [J]. Gauthiers-Villars, Paris, 1929.
- [5] ZHANG Qingde On the uniqueness of meromorphic functions concerning slowly growth meromorphic functions [J]. Acta Math. Sinica, 1993, 36(6): 826–833. (in Chinese)
- [6] TODA N. Some generalizations of the unicity theorem of Nevanlinna [J]. Proc. Japan Acad. Ser. A Math. Sci., 1993, 69(3): 61–65.
- [7] ZHU Jinghao. An extension of the uniqueness theorem for meromorphic functions [J]. Acta Math. Sinica, 1987, 30(5): 648–652. (in Chinese)
- [8] LI Yuhua. Entire functions that share four functions IM [J]. Acta Math. Sinica (Chin. Ser.), 1998, 41(2): 249–260. (in Chinese)
- [9] LI Yuhua, QIAO Jianyong. Unicity theorems for meromorphic functions relating to small functions [J]. Sci. China Ser. A, 1999, 29(10): 891–900.
- [10] YI Hongxun, LI Yuhua. Meromorphic functions that share four small functions [J]. Chinese Ann. Math. Ser. A, 2001, 22(3): 271–278. (in Chinese)
- [11] DENG Xiaojin, YAO Weihong. Meromorphic functions sharing three small functions IM [J]. J. Shanghai Jiaotong Univ. (Chin. Ed.), 2007, 41(5): 835–839. (in Chinese)
- [12] YAMANOI K. The second main theorem for small functions and related problems [J]. Acta Math., 2004, 192(2): 225–294.